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MESURES DE VOLUMES

4 Compleéte.

m?® dm? cm?

Tmd= 1 0 0 =1000dm?
1dm?= S e cm?
Tcmd= S dm?

5 Compléte aussi.
m?® dm? cm?
Tm’= 1 =1m?
1dm?®= T s mi=../[... m?
Tcmd= S s dm®=.../...... dm?
2 m® 750 dm?® peut
6 Note dans le tableau. aussi s'écrire 2,750 m®
ou 2 750 dm?.
m? dm? cm?®
6 dm?®
560 cm?®
4 500 cm?®
0,340 m*
80 cm?
5 m*400 dm?
46 dm*300cm®* | | | | | cm?
800m*8dm* | | | | dm?
O9m*15dm* | | | 1 dm?
7 Transforme.
Ami= . dm?® 345dm?*= ...l m?®
7dmiP= ... cm?® 5800dmd=.................. m?
67dmd= .. ............... cm?® 650cmi=.....cccinnnnnnn. dm?®
4dmi=.... dm? 7500dmd= ... ............... m?
450 dmi = ..., m?® 3400cm®= ... dm?®




